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QUESTION 1

Which two methods should an administrator employ to set up the AHV host VLANS in a cluster to follow Nutanix
recommendations? (Choose two.)

A. Add all VMs to a new VLAN other than VLAN 0O

B. Add all VMs to the default VLANO on bridge brl

C. Add the CVM and the AHV host to the same VLAN
D. Avoid adding guest VMs to the CVM and host VLAN

Correct Answer: AC

QUESTION 2

An administrator migrates a Windows VM from an ESXi host to a Nutanix AHV cluster. When powered on, the migrated
VM fails to start. The VM console shows the error message:

Cannot locate boot device

What should the administrator confirm to identify the reason that the VM fails to boot?
A. VM snapshots on the source cluster were consolidated.

B. Nutanix VirtlO drivers were installed on the VM pre-migration.

C. The ESXi source cluster can ping the destination AHV cluster.

D. The Windows OS is at a supported patch level.

Correct Answer: B

QUESTION 3

An administrator needs to view and compare IOPs for VMs across multiple clusters.
Which two dashboards can the administrator use to find this information? (Choose two.)
A. Planning

B. Apps

C. Explore

D. Analysis

E. Home

Correct Answer: DE
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QUESTION 4

Which algorithm do snapshots and clones leverage to maximize efficiency and effectiveness?

A. Redirect-On-Write

B. Copy-on-Write

C. Split-mirror

D. Continuous Data Protection

Correct Answer: A

AOS tracks snapshots with a fine-grained redirect-on-write algorithm that allows fine-grained control and maximizes
both efficiency and performance. Clone hundreds of new workloads in seconds, and create deep snapshot chains

without impacting applications.

Reference: https://www.nutanix.com/products/acropolis/distributed-storage

QUESTION 5

An administrator wants to have a VM on an AHV Cluster with access to multiple VLANSs.
What is the most efficient way to achieve this?

A. Update a vNIC on the VM to operate in trunked mode for all desired VLANS.

B. Create a network in AHV associated with all those VLANs on all hosts.

C. Use SFPs that allow the needed VLANSs.

D. Use one vNIC per VLAN for the VM.

Correct Answer: A
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